2 ™D

Hu: NEHR HE(LBTDHI/NLBT - HEXR)

il =2
ool OIRE N4 e

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
A ESH 22,521,119 24,663,077 A2,141,958
= 1,341,166
== 21,179,953
NFEHE ss(Lets3dE /LS - HEXE) 22,477,916 24,626,792 A\2,148,876
= 1,341,166
= 21,136,750
CHE A M+ &2 22,477,916 24,626,792 A2,148,876
= 1,341,166
=S 21,136,750
MHETEE M1 473,894 415,035 58,859
201 er23| 16,520 10,000 6.520
01 At2teltl 16,520 10,000 6,520
OXNgAE 29 1,820
OXIZAl & M= Ra=Atcll ZEN 1,000
ot 23 1,200
SSHAHEE £3 4,200
OdAENA 2SA, ASH M= 5,100
OFISH ADIIES M 28 &F
== 3,200
202 04| 14,260 14,260
01 2LHA b 14,260 14,260
OXZN+=SU & XA 28 S22 N 14,260
303 Zai= 45,000 45,000
01 Za= 45,000 45,000
OXZA & Mo+ 28 SeEIt 45,000
306 £= 200,847 213,99 213,152
01 2d= 200,847 213,99 A13,152
OXNZHMARH £ 200,847
308 AtAIEMSOIE 195,867 130,376 65,491
183 S| 2SO ZB&HASAIE 195,867 130,376 65,491
OXTNA+=LEEAAE 22 61,079
OXgNEEs 24 ¥ A2 134,788
405 AHaHE S 1,400 1,400
02 =A bl 1,400 1,400
OXIZA =X 7 1,400
CHY dxZas Ns 2 70,000 70,000 0
303 Z&a=s 70,000 70,000
01 Za= 70,000 70,000
OZMY F==2dsSH 29 70,000
gt MM #HME 29 10,720 13,120 A2,400
201 et 3| 10,000 12,400 2,400
01 At22t2lH] 10,000 12,400 22,400




2A:

AIE

M NEGR SHE(YNDIHT/TLHE - WEY)
s QYA N 2 (St &)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
OXIZNAL L JI2aA |2 =5 10,000
202 04| 720 720
01 2L AL 720 720
OXIZAl Ol28E S 2t SXI&el 720
=R =s N 20,211,000 22,839,882 A2,628,882
308 AHXIHMSOIA 20,211,000 22,839,882 N2,628,882
2 d=u2s 20,211,000 22,839,882 A2,628,882
OEAN =12 = 20,211,000
NSRZEAL =& 27,600 27,600
202 04| 27,600 27,600
01 =LHABI 27,600 27,600
OXI LAl LEAIR A 16,000
OXNZH SENREA 8,000
OAlZ NRXE EBZ 3,600
KAl HES A =& 10,800 10,800 0
201 Zet23 ] 10,800 10,800
01 AtR2telbl 10,800 10,800
OHE L JIEI2AH AINEEN I HE 10,800
IHE = DIAZAl X2 (21) 1,341,166 1,138,374 202,792
= 1,341,166
308 AXIHMSO0IA 1,341,166 1,138,374 202,792
= 1,341,166
01 MREHH B EES 1,341,166 1,138,374 202,792
OIEFEDItA 2F - SAl HIS 1,341,166
= 1,341,166
KM Hgt2tel =8 3,600 3,600 0
202 O] 3,600 3,600
01 2L AL 3,600 3,600
Ok - ANz &= st SR, = 1,800
OAlZ XNEEH 1,200
O22N= M Xt AEf XA 600
DSAEIIRH 24 329,136 108,381 220,755
201 L2 107,000 90,000 17,000
01 AtR2telbl 107,000 90,000 17,000
OEdlZ &dl, HisH| 90,000
SEe B2 29 17,000
202 O] 7,000 3,000 4,000
01 =LHO LI 7,000 3,000 4,000
OLSAIEI RN 22 € 2& g2 7,000
307 212t01& 170,000 170,000
04 QIZFHAIAIS B = 170,000 170,000
OLEAEIIRHM A 170,000
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SA: HED
HE: NEHE S5(LLDIHT/TNLBE - HYX)
CHol: QIEE N4 EE (o

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 45,136 15,381 29,755
18 SIS0t & A AS A 45,136 15,381 29,755
OfMES(Z0T, otes S) 21| 30,000
OZEHEAIAH 28 & A2 15,136
HH2SZHI(ME D) (O1EHIIEH 43,203 36,285 6,918
=34 43,203 36,285 6,918
2A29 J1=23Hl 43,203 36,285 6,918
201 er23 | 28,553 22,585 5,968
01 At2t2ltl 28,553 22,585 5,968
SEN2E AIR2el] 28,553
202 0o4dl 10,450 9,500 950
01 =LHOHI 10,450 9,500 950
OFMEZ =0 10,450
203 =4l 4,200 4,200
M FA2HHIFII 4,200 4,200
©2521 0lat 350,000+ 122 4,200
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